
CLT- Tasks results 

Task. 2.  

𝑋~𝑁(32.2,0.3) 

𝑍~𝑁(0,1) 

a) 𝑃(𝑋 ≥ 32) = 1 − 𝑃(𝑋 < 32) = 1 − 𝑃(𝑍 <
32−32.2

0.3
)=1-P(Z<-0.67)=1-0.2514=0.7486 

b) 𝐶𝐿𝑇: 𝜇𝑋 = 𝜇𝑋̅ = 32.2 

         𝜎𝑋̅ =
𝜎

√𝑛
=

0.3

√4
= 0.15 

𝑋̅~𝑁(32.2,0.15) 

𝑃(𝑋̅ ≥ 32) = 1 − 𝑃(𝑋̅ < 32) = 1 − 𝑃(𝑍 <
32−32.2

0.15
)=1-P(Z<-1.33)=1-0.0918=0.9082 

 

Task. 3.  

𝑋~𝑁(400,60) 

𝑍~𝑁(0,1) 

𝐶𝐿𝑇: 𝜇𝑋 = 𝜇𝑋̅ = 400 

          𝜎𝑋̅ =
𝜎

√𝑛
=

60

√36
= 10 

𝑋̅~𝑁(400,10) 

𝑃(𝑋̅ < 375) = 𝑃(𝑍 <
375−400

10
)=P(Z<-2.5)=0.0062 

 

 

 


